gogboopoboobooboboo™ooon

000

0oQ 0 0 0

2 3 000000 1601- 0000O0016077-

4 3 0 00 1610- 000 1607-

52 000 10 oooog D00000<a< 10

52 ooo v oooooooon 000000000 F-Yo)00O000000
105 ooo 2 \/2171-y \/%Uy

154 oog 2 (>teHh) (>te=h)

163 0oo 10 0oooOoooooon 00000000000

223 6 000000000005.30 000000000005.300

227 ogoo s =P(X=Y) oo

228 7 =P(X =-Y) 0o

239 0006 ooooooag p 0o

239 | 000403 oooooog p 0o

239 0001 ps = Ssin™! L 00

o2 | noos Hie] e

272 oooe , E[V[Yi;10:]), E[V[Yi;|0]] , E[V[Yi;10:]], VIE[Y;|0:]]

272 ooo 4  E[V]Y|O]], E[V[Y]©]]  E[V[Y|]],V[E[Y|O]]

272 ooo 2 w:= E[V[Y|0]] w:=VI[E[Y]9]]

273 10 w = V[W[Y|O]] w = V[E[Y|0]]




